AE 2

THSFE FMEEZFERVEMEXFRORITERR

SH5E2H248
FMEESLEAFEITELRE (m®) HILHZMEER
34,169 ERHZNEEE
(B - m3)
ARl o # — " % W HmER| B
my | F5 | AMEH W& CTA [ BR | Bk |REERE| B8k | BER [Freie|emees] & |FERE| ) | B F
1mE | 12 |R5. 4B T4 EREEE R5. 12A T4 326 51 1,604 469 203| 2,653 &K 1.53
22 | R5. 4B T4 EE g R5. 128 T4 290 92| 8,732 312 1,371 10,797| #E 3.00
35 |R5.4A T4 EMBEFEER R5. 128 4 9, 406 349 9, 755| &% - sz~ m
45 |R5.4A T4 ENEBEEES R5. 128 T4 5,279 5,279 27
5% | R5.4A T4 EMBEFEER RS. 125 T4 5, 685 5,685| B4R
5t 616 143| 30,706 781 349 1,574 34,169 4.53
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AfE 2
SHMSHEE RMEEFTERVERELEFEORITEER
SHI542H248
FHEETEBARITELE (m°) HLHHEER
30, 000 RRFNEEESAXE
(Bt : m3)
AL = # _— IS fExtE BHER| BT
my | ®5 | MEH =8 A #78 [ Bm | ok |remE] Bk | GEE [Froxe]oeers] 5 |TEwE o | B F
1EH 1 |R5.4R T4 EMREEE R5. 12 A 4] 6, 800 6, 800 | ms. Eam
1E8 | 2 [R5.4ATH ENBEE RS. 128 54 5, 867 1,233]  7,100[2%. %=
@8 | 3 [R5.4ATFH EMNEEEE  [RLIATH 9,700 9,700 4%
1E18 4 |RS.4ATH EMEXFE RE. 12 ch ] 3,749 2,651 6, 400| . /il
it 26,116] 2, 651 1,233 30,000
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AE 2

THSFE FMEEZFERVEMEXFRORITERR

SH5E2A248
FMEEFEBARITELE (m°) HALFHEER
29, 191 ERHMNEEE
(AL - md)
AL = # _— IS fExtE BHER| BT
my | ®5 | MEH =8 A #78 [ Bm | ok |remE] Bk | GEE [Froxe]oeers] 5 |TEwE o | B F
1[E1H 1 RE.AATA] (BREERVENERFEIRG1ATA 168 6, 226 1,656 865| 8, 915|mmus - xm 0.49[z¥a>7rxs
=8 2 |R5.4A T4 EHREEE R5. 118 T4 1,724 631 2,355 MEH
1EE | 3 [R5.4AFA EHEEHEE [R5 12859 7,797 1,797 =H
1E1H 4 |R5.4ATA] EMNEXFE R6. 1A T 10,124 10, 124 =@ - Fm
&t 168 25, 871 1,656 1,496 29,191 0.49
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THSFE FMEEZFERVEMEXFRORITERR

SF5E2H24H
EMERELEAITELE (m°) R HHSER
45,933 TIHEMREEE
(B4 : m3)
A#L = % e ¥ fEX1E BB B
my | F5 | MEH R & BTA | s | B e s8e | gEa |sestie|xesexs] g [FTERE| (ha) " =
1|8 15 |R5.4B T A EMEEE R6.28 T ) 7, 600 7,600 ER&E BA
181 H 25 | R5.ABTF] |BRAEERVEMRSEXEES|RC.2AETH 200 7,515 707 1,242 9,664 ZE=h 2. A8| HEAT - HRAD
1B 8 35 |R5.4AT A EMNEXEES R6.2A T 6] 3, 490 1,203 4,693( ZDII b33l
1\ B 45 | R5. 4B T 4H] EMEEFEE R6.2A T4 8, 741 8, 741| BEY A
1EE | 55 |RS.4AATA |WRLERVEKELHEA(R SALA 228| 4,973 501 43]  2,359] 8,104 S X EXi!
1\ B 65 |R5.4A T4 EMNEEFEE R6.2A T4 4 587 2,544 7,131 & E
it 200 228| 36,906 2,411 43 6, 145( 45,933 2.48
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THSFE FMEEZFERVEMEXFRORITERR

SHI542 8248
EMAESBLEARITELE (mD) HiLEMESER
58,712 ENLILEHZEMREEE
(BifL : m3)
A#L = " 2 g e S HmER| B
my | F5 | MEH R & BTA | =& | Mg |[memg| 58x | o |sreee|xemsexs] s |[FEREB| (ha) " =
181 15 | Rb. 480 f|] EMBESE R6.2A T 6] 2,741 2,988 5 129|=/ A&
1B B 25 | R5. 48 dq) EMREES R6.2A T4 4, 215 4, 215( 461
1EB | 3% |R5.4A 94 EMBEFEER R6. 28 T4 6, 990 6, 990| 2 - /imw
18 | 42 |R5. 4854 EMEBLES R6.2H T 7,205 165 7,370 =i
1B 8 55 | R5.4A % f|) EMNEXEES R6.2A Tf] 1,523 7,523| ¥=id
2EH 65 | R5.4AHF] |BREERVEMRSEEA|RC.2ATE 5,758 1, 304 660 1,722| Bpilih 12.50
2EE | 72 |Re. 4B A |RRtERUERSZES|[R.2ATA| 5,766 5,766| %8 13.49
2EH 85 |Rb.4AHF |HMREERVEMNELEAIR.2AETH 3,280 1,702 4,982 J\;ELL 8.75
3EH 15 | R5.5HAHH] EMEEER RT.11TA LS 8,415 8,415 tF 30.89| #HE#HF
it 14, 804 24,157 8, 580 1,523 2,988 660 58,712 65. 63

(D) RBROEIERNPERLIEEOEBOLBNERERITIEAI’HYFET,




AE 2

THSFE FMEEZFERVEMEXFRORITERR

SH5E2H24R
FMEESLEAFEITELRE (m®) HILHZMEER
31,330 BFLHHEMEEE
(B4 : m3)
AL = # _— IS fExtE BHER| BT
my | ®5 | MEH =8 A #78 [ Bm | ok |remE] Bk | GEE [Froxe]oeers] 5 |TEwE o | B F
1mA 1 |R5.4B 4 EREEE R5. 11A T 3,424 1,652 5,076| %RET 7. 98| & - #&R&0
2[E1H 1 RE. AR E] (BB EERUVEMREEEE|RS. 12A LA 5,515 3,186 8,701 = - BiE A
2 |R5.4Ath4g EMNEE£HFEE R5.11A T4 3,069 3,069 HLW R
3 |RE.4AEHf] |RRAEERVEKRSLER|R. 12814 7,370 763 8, 133| @ - e B4
4 |RS.4FHE |RMEEERVERELES|R.11ATE 1,201 2,222 3,423| IhNEA R
3mEE 1 | R5.68 M) EMREEE R5. 128 L4 2,928 2,928| BB A
st 14,086| 15,592 1,652 31,330 7.98
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SHSFE FMEEZTERUVENEEZFEORITERER

SH5E2H 248
FHEESERERITELE (m°) HALFHEER
10,570 =R AHMREERE
(B4 : m3)
A#L = % e ¥ fEX1E BB B
my | ®5 | MEH =8 A #78 [ Bm | ok |remE] Bk | GEE [Froxe]oeers] 5 |TEwE o | B F
B8 | 15 |RS.4ATH EMEEXE R6.2A T4 6,438 252 6,690 TEF 0. 54
2|18 | 15 |Re.5ATA EMEFEE R6. 1A T 3,880 3,880 FiEF
&t 10, 318 252 10, 570 0.54
GHERORIBENELIBE CRBOBVELERIT AN HYETS .




A 2

THSFE FMEEZFERVEMEXFRORITERR

HH542 7248
FMEEFERERITEMRE (m°) AL FHEER
20, 660 SELBHEHEEEABRE
(BfI : m3)
A#L = » — % fEX1E BB B RE)
my | ®F | AEH =8 A BTA | & | R | Mtk |REmg] SEn | BB |snexe[xmwere] 5 |FERE] ha) ® =
1EE | 15 | R5.4A %4 |HREERCEHRELHA|R 2858 848] 3,722 4,570] 1L
1EE | 25 [R5 AR |HREERVEHERHARG 2ATA|  2,126] 161 175] 4,618 7,080 %HH
1EE | 35 |RE.4AHMA |  BHEEHEA  (R7.1294 5,880 1,660 1,470 9,010| X¥F 16,75 PHATEE
&t 2,126 161] 1,023] 14,220] 1,660] 1,470 20, 660 16.75

(R RBROEIFERINERLDIEEPEHDLBNERERIITIEENHYFTT,
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THSFE FMEEZFERVEMEXFRORITERR

SH5E2H 248

FHEESERERITELE (m°) HALFHEER

17,000 ZREREHMREEE
(B4 : m3)

A#L = % e ¥ fEX1E BB B
my | ®5 | MEH =8 A #78 [ Bm | ok |remE] Bk | GEE [Froxe]oeers] 5 |TEwE o | B F
B8 | 15 |RS.4ATH EMEEXE R1.2AT 823 4,000 177 5,000 &=H 15. 48| EHERH
B8 | 25 |R5.4AAT4 EMEFEE R6.2A T ] 3,483 317 3,800| tHHE:XK 2.71
268 | 15 [R.5ATH EMNEXFE R6.2A T ] 3,500 3,500 KH#
2EI8 | 25 |R5.5ATFA EMEXFE R6.2A T4 3,000 3,000] X#&
2B | 3% |RL.OATH |[HREERVENREEFEERC.2ATH 846 761 93 1,700 ZE4%
&t 846 11, 567 4,317 93 177 117,000 18.25
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SHSFE FMEEZTERUVENEEZFEORITERER

SH5E2H248
FHEETEBARITELE (m°) HLHHEER
35, 000 REHRMEERE
(B4 : m3)
AL = # S IS fExtE BHER| BT
my | ®5 | MEH =8 A #78 [ Bm | ok |remE] Bk | GEE [Froxe]oeers] 5 |TEwE o | B F
HEE 1 |R5.4ATFH EMELE RIZE108 T4 8,500 4,893| 3,272 1,335 18,000| 4t 38. 68| EHE LM
1[E 8 2 |RE.ARTH |HREERVEREXEERC2ATH 6, 329 51 71,348 272| 14,000| =% - mesm 7.30
1E8 3 |RS.AATH EMEXFE R6.2F T 2,765 136 99 3, 000 | %% - 2
Bl 6, 329 51| 18,613 4,893 3, 408 1,335 371| 35,000 45.98
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A 2

SHM5E2H 248
SEMEESEFARITERE (M) RILEREER
33,000 EFHEHMHAMEERE
(BAfL - m3)

A#L = » — " ¥ fEX1E mwER| Bt
my | 5| AMEH = h o= RTA | &t | R | Mk [RAEMG] S0 | R |srein|xmexe] 5 |FERE) ha) W=
=1 1 |RE.AB A |RREERVEHRELES|RC. 2AHE 137 174 1,838 613 27| 2,789 %Il
1E1H 2 |R5.ARTH |BREERVEREEESRS. 125 L8 803 3,374 4177 45 2.91
IEE | 3 |Ro.AATH |RRLERVEHRSEEEARG 15TH 229 3,768 551 4,548 +4#8
1= 8 4 |R5.4A T4 EMBEER RS. 128 th 4] 104 5,242 5,346| & 4 &
1EE 5 |RS.4ATH) EMELEE R5. 12 A 4] 4,433 4,433 BEES
@8 6 |R5.4BF4 EMELES RS. 128 &) 6, 653 6,653| HTHT
2EE 1 |R5.58 %4 EHEEE R6. 68 T4 2,892 2,162 5054| HEA BRE
it 1,169 174 104| 28,200 2,775 578| 33,000 2.91

(D) RBROEIERNVERLGIEEOEBOLBNERERITIEAI’HYFET,
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AE 2

SHI5E2F24H
EMEESEBEERITERE (mY) RILBHEER
26, 500 AFENENEEERTXE
(B : m3)

A#L = % e ¥ fEX1E BB B
my | 5| AMEH = h o= #TR [ Bm | MR [RAmE] SR | GER [Faeks]mmes] & |7ERa o | B
18 1 R5. 48 T4 EMNBEFER R6.2A T f] 7,050 1,180 420 8,650 E=F
JEIR | 1 |RS.5AM| EHEREE  |R2ATH 10,030 1,970 12,000 £ Ry
3EE 1 | R5.58 M) EMREEE R5. 12A T4 3,000 3,000| EEEH
4EB | 1 [R.7TATA EHBEE R6. 28 T4 2,729 121 2,850] *xs&
it 22,809 1,180 2,511 26, 500

(B RBROEIERNPERLGIEEOCREBDLBTNERERITIEEAI’HYFET,
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THSFE FMEEZFERVEMEXFRORITERR

£F5428248
EMAESBLEARITELE (mD) HiLEMESER
30, 851 TR KRG EE
(B - m3)
A#L = » — " ¥ fEX1E BB B
my | F5 | MEH R & BTA | s | B e s8e | gEa |sestie|xesexs] g [FTERE| (ha) " =
HEE 1 |Re.4B T4 |RatERUEHKELESR|R 11ATA 19] 3,955 3,974| &I
2 R5. 4B T4 EREEE R5. 11E T4 3,117 3,117 &H
3 |Ro.4AB T |MREERUEHRSLEE(R 11ATE 119] 4 484 588 5191 1| 2.26
4 |Ro.4ABTH |HRtERUEHELES(R. 11ATE 14] 3 241 3,255 SAL;A
5 |Ro.4BTH |MREERVEHRSLEE(R 11ATE 2,781 278 3,059 H& 1.39
2E B 1 R5. 88 F 4] ErkExE R7. 1A T4 12, 255 12,255| IBF BHELHY
it 152 29,833 866 30, 851 3.65

CERBROEIFERINERLIEEPREHDLBNERER I I IEENHYFTT,




AE 2
SHSFE FMEEZTERUVENEEZFEORITERER

SH5E2A248
FHAEELHEARITELRE (m°) HILHHEER
12, 251 WEHHEEE
(B{i : m3)
A#L = % e ¥ fEX1E BB B
my | ®5 | MEH =8 A #78 [ Bm | ok |remE] Bk | GEE [Froxe]oeers] 5 |TEwE o | B F
1EE | 15 |Rb.4AH4 EMEER RS. 123 F 4] 4,902 4,902| L& R
2% | R5.4AHH) EREEE RS. 128 T4 2,000 2,000( & BinE
35 | R5.4A %A EMBEFEER R6. 1B T4 5,049 300 5,349 il INEIR
Bl 11, 951 300 12, 251
G EBORIFENRLIFALEBOLVEEERTTIBENHYETS,
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THSFE FMEEZFERVEMEXFRORITERR

SF5F2H24RH
FMEESLEAFEITELRE (m®) HILHZMEER
46, 286 KREMHEMREERE
(AL : m3)

ARl o # — " % W HmER| B
my | F5 | AMEH W& CTA [ BR | Bk |REERE| B8k | BER [Freie|emees] & |FERE| ) | B F
1EE 1 R5. 4R 4] EREEE RS. 128 T4 8,776 8, 776| RK
1EH 4 |R5.4RHE) |MREERVEMELERA|R. 128+ 95| 8,031 8,126/ &K
181 2 RE. AR E] (BB EERUVEMREEEE|RS. 12A LA 1, 865 5,871 7,736|fEE
1EH 5 |R5.4A A |MREERVEMELEA|R. 11A+HE 143 4,458 127 4, 728| EE B
1EE 3 |Rs.4B%4 EMREEER R5. 128 L 4] 7, 455 39 7,494|1t 5% 0. 31
1E8 6 |R5.48th4 ENEBEEES R5. 1284 9,426 9,426|tAT

st 2,103 44,017 39 127 46, 286 0. 31
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THSFE FMEEZFERVEMEXFRORITERR

AE 2

SF5E2H24H
EMERELEAITELE (m°) R HHSER
24, 458 RRERFHSEE LINT-RE
(B4 : m3)
A#L = % e ¥ fEX1E BB B
my | F5 | MEH R & BTA | s | B e s8e | gEa |sestie|xesexs] g [FTERE| (ha) " =
2[E1H 1 R5. 4R 4] EMEEE R6.2A T4 3, 690 3,690 mR
2|18 2 R5. 4R 4] EMREESE R6.2A T4 3,238 731 3,969 FHR 1L 1.59
2[E1H 3 R5. 4Bt f) |BIREERVEMEEEA|RC.2ATH 1,187 3,929 2,309 7,425 =8 7.01
2[E1H 4 R5. 4B ) EMNEEES R5.11A T4 2,689 1, 455 4, 144 wiIA 1.94
288 5 RS. 4H 4] EMNEXEES R6.11A T4 1,809 2,534 887 5,230 Ltk 5.86
it 1,187 15, 355 2,534 5,382 24,458 16. 40
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A 2
SHEEE ZMEEFERVENRBEFAOHEITEER
SH5E2H24R
FMEESLEAFEITELRE (m®) HILHZMEER
50, 000 KA FMHEEE
(BAfE : m3)
A#L = » — " ¥ fEX1E BB B
my | ®5 | MEH =8 A #78 [ Bm | ok |remE] Bk | GEE [Froxe]oeers] 5 |TEwE o | B F
1EB 1 |R5. 48 T4 EREEE R5. 11 Aty 5, 606 951 6,557 = 5.70
2 |R5.ARTH |BREERVERSLEA|RS. 128 4| 4,842 3,563 8,405| {=#it 13.51
3 |R5.4B T4 EMEZES RS. 11 A4 5,972 938 6,910| &eft 1.53
4 |R5.ART A |BREERVERELEA|RS. 11ATHE 588 3,662 2,042 6, 292 | aEtt - 1= 8.52
5 |R5.4B T4 ENEEFEE RS. 1B T4 4,318 2, 291 11 6, 720| st - £z 9.02
6 |Rb.4ATH EREEFEE R5. 11 A 4] 1,957 344 1,463 3,764 #iR 5.98
7 R5. 4B T ) EMEEE R5. 108 T4 4,510 4,510 =V -
8 |R5.4BT4H EMREEE R5. 118 4] 6, 842 6,842| BEE -
st 5, 430 36,430 3,586 4,443 111 50, 000 44. 26
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AlfE 2

THSEE RMEEFERVEREEFRORITERER

S5E2H248
EMEESEFEERITERE M) HILHZHREER
44,000 MEFNEEE
(BAI:m3)
A#L = " — S Ui BMERE | B
my | B | AES M A& BTA | & & |gemr| sun | fEg [arztaxesery] 3 HERE| 2 | B
1E B 15 | R54RHA ENEES R5.12A ] 8,880 520 100 9,500 =3Il 2.22| -mtrx-ru—i
1= 25 | ROAAHH |HRAEERVENREEEE|RVIIATA 420 5,770 300 110 6,600 ZH BE—1F
=)= 32 | Rs4AHE EMEEER R5.11A & 4,550 1,670 280 6,500 %
1@ 45 | R54AHA ENEEXFES R5.12 A th4] 9,500 500 10,000 =H
=)= 52 | Rs4BHE EMEEEER R5.12A ] 10,830 310 260 11,400 | A B - f1R FE
it 420 39,530 2,990 310 750 44,000 2.22

(3) ERORIEENSRLGIGEEOLEBOLVERERITIEENHYES.




AE 2

SHSEE FMEEFERUVEHREEBAORKTTERR
SH5E2H 248
FHEESEFEARITERE (m°) RARHEER

10, 658 HERHEEEFRIE
(AL - md)

A#L = " 2 g - S HmER| B
my | ®5 | MEH =8 A #78 [ Bm | ok |remE] Bk | GEE [Froxe]oeers] 5 |TEwE o | B F

1[E1H 1 RE.4AHhA) (BREERVEMNERFERR. 25| 1,323 6, 701 2,597 37 10, 658|  HER% 8. 71

2,597 37 10, 658 8.7

Bl 1,323 6, 701
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THSFE FMEEZFERVEMEXFRORITERR

SFI54E2A24A
FHAESERARITERE (m°) HABHEER
38, 837 HAFMHEEE
(B4 - m3)
AL | za " 2 % frxig BHEH| A
my | F5 | MEH R & “TR [ B | X |RA0E BEk | RER [Anmte e 5 |FERE| o | B F
1[E8 1 R5. 48 T 4] EMEEE R5.2B T ) 4,793 658 865 6, 316|A<E 1.83
1 @8 2 R5. 48 T 4] EMREESE R7. &£2B T4 7, 381 8, 665 1,593 863| 18,502|& it 25. 55| FE2HY
1[EB8 3 R5.4A T €] EMNEXEES R5.2B T ) 7,631 226 7,857 |HF
1@ 8 4 R5.4A T 4] EMEEFEE R5.2A T4 2,335 2, 335|%EF
1[EB8 5 R5.8A T ] EMNEXEES R5.2B T ) 2,819 1,008 3, 827|%&F
it 24,959 8, 665 2, 251 2,099 863 38,837 27.38
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SHSFE FMEEZTERUVENEEZFEORITERER

SH5E2A248
FMEEFEBARITELE (m°) HALFHEER
15, 000 ERZFHEEE
(AL - md)
AL = # S IS fExtE BHER| BT
my | ®5 | MEH =8 A #78 [ Bm | ok |remE] Bk | GEE [Froxe]oeers] 5 |TEwE o | B F
1815 1 R6.4A T4 EMEEXE R5. 12 A 4] 1,946 54|  2,000| HER BRE—iE
1EE | 2 |R5.4AFH ENEXEF RS. 128 4] 4,000 4,000 X5 BE—1E
1815 3 |R5.4ATA EMEXFE R5. 12 A th 4] 7,812] 1,188 9,000 ¥H 3.44
&t 13,758| 1,188 54| 15,000 3.44
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SHSFE FMEEZTERUVENEEZFEORITERER

SH5E2H 248
FHEESERERITELE (m°) HALFHEER
21,100 WM EEE
(B4 : m3)
AL = # _— IS fExtE BHER| BT
my | ®5 | MEH =8 A #78 [ Bm | ok |remE] Bk | GEE [Froxe]oeers] 5 |TEwE o | B F
1B | 15 [RO.AATA [AREERVERERFRRC2ATA| 1,794 1,178 1,028 10,000 4 8. 31
BB | 25 |R5.4AATH |RALEERVENERFEE|RC2ATA 433 2,101 2,288 702 3,076 8,600| =445 9.69
1EE | 35 |RS.4ATA EMEXFE R6.2A T4 1,962 422 116 2,500 FER 1.83
&t 2,221 11, 241 2,288 2,152 3,192 21,100 19.83
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SHSEE FMEEEERUVEREXFEADKITTOER
542 A24H
EHMEESEFARITTEHRE (M) HLHHEER
37,300 LR HEHEEER FXE
(BfE - m3)
A#L = » — " ¥ fEX1E BB B
my | ES | AMEH R A BTA | s | B e s8e | gEa |sestie|xesexs] g [FTERE| (ha) " =
1|8 1 R5. 4Bt f] |BLREERVEMREEEA|RS. 11AGE 2,057 2,430 952 485 5,924 XKiR 9. 41
1@ B 2 R5. 4B ) ENEEE R5.11A T4 3, 307 2,722 6,029 Rfir 4.89
1EE | 3 |R5.4A%E [RatErRUERELEaA(R 12854 39 6, 744 6,783 =m
1@ B 4 R5. 4B ) EMNEEES R5.10B T4 1,394 25 2,019 175 3,613 [mIHET 6. 66
1EE | 5 |R5.4A%4 [RatErUEhELEa(R6. 25 TE 60 4 373 4,433 A4
181 H 6 R5. 4R 4] EMNEEFEE R6. 1TET A 2,931 3, 458 4129 10,518 &
it 2,156 16, 806 7,157 2,019 9,162 37, 300 20. 96
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AE 2

SH5E2A248
FMEEFEBARITELE (m°) HALFHEER
7,700 BEAHEEE
(AL - md)
AL = # S IS fExtE BHER| BT
my | ®5 | MEH =8 A #78 [ Bm | ok |remE] Bk | GEE [Froxe]oeers] 5 |TEwE o | B F
1815 1 R6.4A T 4] EMEXRE R5. 12 A 4] 5,500 400 5,900 mtsK 1.23
2 |R5.ABTA EHEEE R5. 12 ) 1,195 605 1,800/ KiR 2. 08|1R%EI—1&
&t 6,695 1,005 1,700 3. 31
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